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N: no 3D-linearization (OL) in file (F) or PS-startup (S)

(x,)=tangens hyperbolicus (tanh) (x,)=tangens hyperbolicus (tanh)& modified (z,)=similar tanh 10%=dN0% 107/ N0, (z,)=similar tanh & modified
N _ G ge a=1,00, b=1,00 e=2,718282 _ - ghla a=1,00, b=1,00 e=2,718282 N _ 1057 - g7/ a=1,00, b=1,00 e=2,718282 [ _ 105 7 a=1,00, b=1,00 e=2,718282
Fap(X;) = bsee—p = b Fon(Z)= b——me—mr, Fan(%) = b=—m—r,
eXrla gxla PEIICIpR d 10772 4 1072 a'=ain(10)=2,302 d 10%72 4 1072 a'=aln(10)=2,302
lox,/a':lox, /[a\n(lO)]:ex,/a a=1
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R = G

Fab(zr) = bloz,/a' + 102,/21‘

L =28cd/m? L ,=28cd/m? L =28cd/m? L =28cd/m?

4 x=log[LL,] |~ 1 %, =log[LIL ] 1 3 4 z=loglLiLy) |” 1 3 4 z=log[L/L,

d

(X, )=tangens hyperbolicus (tanh)& modified (X, )=tangens hyperbolicus (tanh)& modified (z.)=similar tanh & modified (z,)=similar tanh & modified

X la _ e><r la X /a _ e><,/a

a=1,00, b=1,00 e=2,718282 10778 — 107/ a=1,00, b=1,00 e=2,718282 10712 — 1072 a=1,00, b=1,00 e=2,718282

T x)=p€ a=1,00, b=1,00 e=2,718282 N L -b
ab(Xr) an(*r) an(%) 1047 4 17 a=aln(10)=2,302

e —e e_—er FE =pl0_—100
hrfay gala /A gala a(%) 10473 4 107 a=aln(10)=2,302

a=2,00"%1,414 w a=050"°=0,707 w a=2,00"%1,414

b=1,00 '/— b=1,00 a'=3,256, b=1,00|
x/a_ x/a X /a _ x/a z/a _ 4zl
= bex a ex a 27 Fab(xf) = bex la ex la Fah(z') =l 104 a’ lOZv/a‘
e e+ e 10 + 10
m, ,.=0,98

1,01
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L =28cd/n? L ,=28cd/m? L =28cd/nm? L ,=28cd/m?
i ;

4 x=loglLiLy |~ 3 4 x=log[LiL,] 3 4 z=loglLLy | 3 4 z=log[LiL]

(X, )=tangens hyperbolicus (tanh)& modified (z.)=similar tanh & modified (z,)=similar tanh & modified

e x)=bes fa_gila a=1,00, b=1,00 e=2,718282 e (xy-pei-e =100, b=1,00 e=2,718282 Lr (7)= bl gl a=1,00, b=1,00 €=2,718282 Le (2)=b 105/ g7l 2=1,00, b=1,00 e=2,718282
ab\r ex,/a+ e><,/a : ab\'r e><,/a+ e><,/a 5 ab’ 10;/a‘ + 102,/6' a'=ain(10)=2,302 5 ab’ 1Oz,la' + 1Oz,la' a'=aIn(10)=2,302
a:Z‘O(Pv =1,414 330,563‘ =0,707 a:Z‘O(Pv =1,414 a=0,5!

a'=3,256, b=2,00
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X /a _ x/a X /a _ X /a zla _ % la Z/a _ /a
= ev/ F o) = bEr e _plo = 10/‘ Fo(z)=bi0 = 102',,
eh/d 4 ghrld el ghrla 104 + 1052 1072 + 1052

L =28cd/n? L =28cd/n? L =28cd/n? L =28cd/n?

x.=log[LILy | i 1 3 4 z=loglLLy | i 3 4 z=log[LiL]

(X, )=tangens hyperbolicus (tanh)& modified (z,)=similar tanh & modified (z,)=similar tanh & modified

e g a=1,00, b=1,00 =2,718282 1 - Le (2)=b e = fEre a=1,00, b=1,00 =2,718282 Le (2)=b e = e a=1,00, b=1,00 e=2,718282
XA, X /A @ ab 1047 4 107 a'=aln(10)=2,302 ab 10472 107 a=aln(10)=2,302

s a=1,0 v5:1.000 4 a=0,5( 5:0‘707 s a=1,0 v5:1.000 4 O.SdJ 5:0‘707
2= b=0,50 > b=0,50 2= a'=2,302, b=0,50) > a'=1,628, b=0,50)
e><,/a = ex,/a be><,/a = e><,/a = (Z') . 102,/a‘ o 1Oz,/ax‘ = (Zr) b 102,/3’ _ 102,/21‘
Sr——an AT e b Sl b S —
ex,/a+ ex,/a ex,/a+ e><,/a al loz,/a + lOZ'/a al 102,/a + 10% la

Fap(X)=b

L =28cd/n? L =28cd/n? L ,=28cd/n? L =28cd/n?

x.=log[L/Lg | 1 log[L/L ] il 4 z=logllLy |” 1 4 z=log[LL,]
DEH90-7A DEH90-8A DEH91-7A DEH91-8A
DEH90-7N DEH91-7N

TUB-test chart DEH9; Model of response functiéig(x;) and deviations input: rgb
tanhg,) and deviations with®¢@and 16ra’; g a%v5 output:rgb




